RAELIRSI MM RL VL. 0
—. fEifr

RHLLE B 30 il 2R 42 /2 — 3R 0 0 R LIS AT RS IR A B R .
PDUEELARZN N R G 0) E 2D Re O HE: IRIE T RERSG . B/ RN E RS,
R B ARG BERS RG. BIR RS R RR. B R4 %.
AR FR G0 R FH D M 008 % R REE P, R v 5 R B850 I ) K AL AT IR ZS JEAT B
—. RGMYELEH

ARG FE AD B R AR BRI IR/ ] B A
STM32 b3 ZRHEH . RK3568 Kb as ity . KulifE Bk 4 . FHLAEN LA B~ BB

7N

RK356 84T EE1E1R

Il

HIRCHHRIR

I

STM324- FRREHEIR

ﬁﬂ%@%1¢:>ﬂmﬁﬁ¥$ﬁm <%::::D
@Mﬁ@%ZQZ>EMMM$W%m$ <F::::{>

=, RGEEN
(1) RGHEZEK



AGTEEBENTRFHM, B RVETRERG. B/ PRI ER
gi. Bt R g, BIERS ARG, AR5, BHafEr AR5, B nth R
Yi. FHAEATRE, AT —DMEVUER . HAERE LT B TR

RHVE RIS
A A A A
e =4 g B 198 g 298
S i (b5 Lol s e om
Zh Zu A4 E2 X E2 X
(2) RGMHITER
T > sgEE
Y
HIRSHFFT
AL &
Y
223! NO ¥
—_— RS —>  BAmEEE
YES
l RIS
Y
(ERBIEE LA RiLHE




. REETRENA
I, IREN(E 5 RERSG
PRBNAG 5 R AR AR G008 I 03k A% B ot UL A= R IR s 2 AT il o it &

B R
FHA

et

Y

IREREIE

Y

IEESRE |«

Y

e

FHEEH

YES

l

e




2+ WL/ BRI E RS

FELAL/ 1A I i 2 G o SR P BH MRS 7R A% s it

PR

Rl

Y

IRERESR

Y

FERVRERESRE

S =7

N/

TR

YES

l

&R

A

B HRER QT A



3. IEASS R G
HAE AR 55 RGN STENUIRGS 45 45 %« RITIR &« KRBT T BE J AR AL B A0 Hr
ZJE B mE R B RS . HARARE W R EPs:

N
[ T4 } RERHR
Y
Y
M
Ak SbiEsE
Y
Y
FFT
RS IS
\ 4
Y
REREIR, R s
A




4. Bt AR5

Hteim A gt: FEIMIL USB MR A4 MAL 2 & 2 1A O it , iR &4
KEMIRANE T « FLIRAE 5 AR, [R5 A% far R S 4% A AL 25 2 TR 1L 8,
B bk . HmAE R R

FHa
4
SRERFVIIAIL > R
Y
A
RigEE < QLIRERAIIAIL

A

A



5. HEALH R4
HHEAL PR G 3@ USB ALMm A EE v 8 fir, AL REERIBFELL 16 7, FTL
FEFRUS BB H 2 5 20 Bl AT e

S

iR

NO—f iR, =

YES

l

LISES




6. Bt K5
B 73 b 22 58 WOHLAE 2k I 28 9 75 206 R A 1 80808 BEAT R AL B2 ORI B il B
A (FFT) JaA REfR BIRALIRSE 5 S . e T

ES

Iped
4
WMEZ FEHIEE
v ¥
FHIHEIRE FFT
¥
88E

L%




7. BRI ARG
BAE RS, ESEPRIBATH, Oy 73RSl I S Bl 2k, sttt 1 AE £ 6k
ARGt WARGIIREALEWT NS B s HuE R L. HIRFEE Wb -

S

4Rt

R8RS YES> QA IREE

NO

!

FEAME




10

fi. BB
AN 2R G R A B P AR 300 SRR (MR BT 5 REAT AU T, JFAEH 22 R s
AR AR R LA o PR B AR — i A 55 B A B AR S . B
LG MG T I S RS0, I LS S s — RIR B, R
T E SR, B, JEE500R. FRT SRR A 1 (8 L2 46 i 0 R 1 F
JASE, Sl e AEACRI T 3 KA N R I B AR e L g 2 A
BRI (8 B AR B SRR T UK R TS R I E, I O (N7 2) B 2]
0(NlogN) .
PR L AR e R R A AR B SRR e S B T
def edge compute(self, num):

data = num. data

Time = num. Time

xfft = sc. fft. fftn(data)

xfft = np. abs (xfft)

xfft = np. trunc (xFft % 10 #x 8) / 10 #x 8

mean = np. mean (data ** 2)

absdata = np. abs (data)

maxabs = np. max (absdata)

indexeven = np. mean (absdata)

rmsvalue = np. sqrt (mean)

p = maxabs / indexeven

indexi = p

indexk = maxabs / rmsvalue

indexc = np. amax (data)

indexxr = rmsvalue

indexmax = np. max (data)

indexmin = np. min(data)

indexmean = np. mean (data)

index] = indexmax / indexmean

indexsk = pd. Series(data). skew()
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indexkur = pd. Series (data). kurtosis ()
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